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BNO 1- 4. 14 1. 80 1. 80 1. 80 1.8 0.90 1.6 N
BNO 1+ 0. 36 4.50 4.50 4.50 0.0 0.90 4.1 N
& % 21.1 10.9
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BREGATIE TR AR TR (m3) (m3) (m3) .
o O Y & m M Y% K E|m O ¥ B E
BNO 1- 2.76 0.0 0.0 0.8 SRy
BNO 1+ 0. 36 3.12 3.12  3.12 1.9 0.95 3.0 3.0 1. 50 4.7 0.8 0. 80 2.5 Z
BNO 1+ 6.26 5,90  5.90 5.90 1.9 1. 90 11.2 3.0 3. 00 17.7 0.8 0. 80 4.7 7
BNO 1+ 9.38 3.12 3.12  3.12 0.0 0.95 3.0 0.0 1. 50 4.7 0.8 0. 80 2.5 Z
BNO 1- 5.94 0.0 HL AP
BNO 1- 4. 14 1. 80 1.80 1.80 4.2 2.10 3.8 Z
BNO 1+ 0. 36 4.50  4.50 4.50 0.0 2.10 9.5 7
& 3 30. 5 27.1 9.7
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A = ( 6.5 + 2.6 + 19.9 )X 1.2019 = 34.9 m2
SR SR HAFEER
k&
A = ( 6.5 + 2.6 + 19.9 )X 1.2019 = 34.9 m2
JRy JRy HAFE
3120 5900 6300
4500 1800
.;% 4900 % % %
A1=6. 5 -
i g L g RS t=10cm
L |
/ A2=2.6
A3=19.9
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AR Az, ))~p o ck=18N/mm2 m3  [23.6X0.22 5.19
EHiAav)) -} o ck=18N/mm2 m3  23.6X%0.10 2.36
HOAMEG RC-40 m3 AREHREELY 8.0
H Hkr t=10mm m2 |23.6X0.45/10.0 1.06
K ERA T m 0.45X1.11803X23.6/3.0 3.96

W H B 1k b4 m2  0.30X0.30%X23.6/3.0 0.71
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U i o7 AFEI R 5 B TS B "
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BNO 1- 2. 76 0. 22 0. 00 h1=0. 00
BNO 1+ 0. 36 3.12 3.12 3.12 2.55 1. 385 4.3 0. 88 0. 440 1.4 h1=1.98
BNO 1+ 6. 26 5.90 5.90 5.90 2.55 2.550 15.0 0. 88 0. 880 5.2 h1=1.98
BNO 1+ 9. 38 3.12 3.12 3.12 0. 22 1. 385 4.3 0. 00 0. 440 1.4 h1=0. 00
A FE
1/2 X (0. 345+0. 345+0. 1-h1) Xhl
& E 12. 14 23.6 8.0
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(1) 15 K= 7 U—1 (i§839, 849)

BND. 1+9. 38

L = = 12.14 m
(2) 155 EE= 7 UV — 1 (JEMES20, & X300)
L = = 12.14 m
(3) 7= AFME (1H200, & =450)
L = 4.90 + 3.22 + 3.22 = 11.34 m
(4) Pemdide (EZFEE. RC-30, t=10cm)
A = 1.80 X 450 + 1/2 X 1.80 X  1.80 = 9.7 m2
3120 5900 6300
4500 1800
% 4900 % % %
i g l §  WEHZ t=0m
| |
L | : \
= AN
A2=2.6 ﬁ
A3=19.9
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(roE TARREE R &

FHHEHEY t=30cm (R R B %+ T
Ve i 37 P AR AR AT et (m3) (m3)
OO B K B|m O Y kR
A-A 1.5 2.2
A-A 25.70 25.70 | 25.70 1.5 1. 50 38.6 2.2 2.20 56.5
B-B 7.00 7.00 7.00 1.7 1. 60 11.2 6.2 4. 20 29. 4
B-B 11. 64 11.64 | 11.64 1.7 1.70 19. 8 6.2 6. 20 72.2
& % 44. 34 69. 6 158.1




- #bF] (RC-30, t=10cm)

A = 3.00 X ( 25.70 + 7.00 +  11.64 )
+ 4.50 = 137.5 m2
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